Instructions for assembly and use *+ Montage- und Gebrauchsanweisung * Notice technique montage et utilisation * HcTpykums no moHTaxy 1 obenyxmsanmio « Instruccion de Montaje y Servicio « Manuale di Montaggio e Uso ¢ Instrukcja Montazu i Obstugi

GRAI I

Art of Bath

PGB

Thank you for choosing our
provyroduct. We hope the item
you have purchased can fulfill all
your expectations. Our products
are technologically ~advanced
and designed on the basis of our
many years of experience in the
production of sanitary fittings.

Dear Customer

P 0

Fiir Ihre Wahl bedanken wir
uns und hoffen mit unserem dank
langjéhriger  Erfahrung in der
Herstellung von Sanitérarmatu-
ren technologisch fortgeschritte-
nen Produkt lhre Erwartungen zu
erfiillen.

Lieber Kunde

-3

Nous vous remercions d’avoir
choisi notre produit. Nous sommes
cerfains de pouvoir satisfaire
pleinement & vos attentes grace a
notre riche offre de produits d'un
niveau technologique avancé qui
résulte de notre longue expérience
en fabrication de la robinetterie et
des accessoires des salles de
bains.

Cher Client

3

Les agradecemos por elegir
nuestro producto. Esperamos
cumplir - sus expectativas al
adquirir -~ un  producto  de
tecnologia avanzada, disefiado a
base de la experiencia adquirida
tras muchos afios fabricando
accesorios sanitarios.

Estimado Cliente

UNIVERSAL CONCEALED BOX I

UNIVERSAL-EINBAUKORPER ¢ BOITE UNIVERSELLE
_ PARTE INTERNA UNIVERSAL « CORPO DA INCASSO UNIVERSALE
YHUBEPCAINbHbIN BCTPAUBAEMbIU ANIEMEHT ¢ UNIWERSALNY BOX PODTYNKOWY

P iT

La ringraziamo per aver scelto
un prodotto GRAFF. Speriamo di
soddisfare pienamente la sua
aspeftativa,  offrendole  un
prodotto tecnologicamente
avanzato, progettato sulla base
di un'esperienza di molti anni
nell'ambito della produzione di
rubinetteria e sistemi doccia.

Gentile Cliente

Yeaxaemblezocnoda

bBnazodapum 3a eb160p Hawezo
npodykma.  Hadeemcs,  4mo
nonHoCMbI0  y00eremeopum
Bawu  oxudaHus, 8005 8
3KCIITyamauuio MexXHoo2U4eckU
ycosepueH cmeogaHHoe
usdenue, 3anpoex MUPOBaHHOE
Ha 6ase MHO20 flemHe20 onbima
8 obnacmu  npoussodcmea
caHUmapHoLi apmMamypbI.

4N

Dzigkujemy za wybor naszego
produktu. Mamy nadzieje, ze w
petni spetnimy Panstwa
oczekiwania oddajac do uzytku
wyrob Zaawansowany
technologicznie, zaprojektowany
w  oparciu o  wieloletnie
doswiadczenie  w  produkcji
armatury sanitarnej.

Drodzy Paristwo

G3/4

57164000

\

or GRAFE o
|

G3/4
139mm

63mm

wall min. 85mm

wall max 110mm

P 5|

m For assembly you will

m Bei der Montagewerden

P 0

3

w Les outils nécessaires

P

w Para el montaje se

i1

= Per il montaggio sono

P RUS

w Do montazu potrzebne sa:

w [1ns MOHTaXa

P pL

need: bendtigt: pour le montage: necesitan: necessari i seguenti utensili:  HeoGxoauMbI: klucz nastawny,
an adjustable spanner, verstellbarer Schlissel, La clef & ouverture variable, llave ajustable, chiave registrabile, Pa3BOAHON KITHOY, kombinerki,
pliers, Kombizange, La pince universelle, alicates universales, tenaglia piana, nnockory6ubl, tasma teflonowa.
teflon tape. Teflonband La bande Téflon. cinta de teflon. nastro di teflon. TehnoHoBas NnexTa.
P cB| P> D | | P« | I | P RUS| P PL|

1 | Valve shield Ventilblende Cache du robinet Tapa de la valvula Protezione della valvola 3awyyra knanaxa Ostona zaworu

2 | Valve body Ventilkérper Corps de la vanne Cuerpo de la valvula Corpo della valvola Kopnyc knanaHa Korpus zaworu

3 | Mixer installation cover | Montageblende des Mischers | Cache de fixation du Tapa de montaje para el Protezione di montaggio MonTaxHas sawmra Ostona montazowa zaworu

mélangeur cartucho del miscelatore cmecuTens

4 | Fitting cover Montageblende Ecran-cache Proteccién de montaje Protezione di montaggio MoHTaxHas sawmTa Ostona montazowa

5 |Label Etikette Etiquette Etiqueta Etichetta MeTka Etykieta

6 |Plug G3/4 Ventilkegel G3/4 Bouchon G3/4 Tapén de la valvula G3/4 | Tappo di sfiato G3/4 Konmnueckuin BeHtunb G3/4 Korek zaworu G3/4

7 | O-ring seal 106x2,5 O-Ring 106x2,5 Joint de type o-ring 106x2,5 | Empaquetadura de anillo | Guarnizione tipo o-fing lpoknazka Tvna o-puHr Uszczelka typu o-ring

106x2,5 106x2,5 106x2,5 106x2,5
8 | O-ring seal 70x2,5 O-Ring 70x2,5 Joint de type o-ring 70x2,5 Empaquetadura de anillo | Guarnizione tipo o-ring [Mpoknazka Tna o-puHr Uszczelka typu o-ring
70x2,5 70x2,5 70x2,5 70x2,5

9 |Plug Schutzkappe Bouchon Tapén Tappo 3arnyuika Korek

10 | Dowel Diibel Cheville Pasador Tassello LWtndpr Kotek

11 | Screw Gewindestift Vis Tornillo Bullone BuHt Wkret

12 | Nut Mutter Ecrou Tuerca Raccordi laika Nakretka

13 | Screw M4x10 Schraube M4x10 Vis M4x10 Tornillo M4x10 Vite M4x10 BuHT M4x10 Sruba M4x10

14 | Screw M5x10 Schraube M5x10 Vis M5x10 Tornillo M5x10 Vite M5x10 BuHT M5x10 Sruba M5x10

15 | Screw M4x35 Schraube M4x35 Vis M4x35 Tornillo M4x35 Vite M4x35 BuHT M4x35 Sruba M4x35

16 | O-ring 4x2 O-Ring 4x2 Joint torique 4x2 Junta torica 4x2 0O-ring 4x2 O-puhr 4x2 Oring 4x2

17 | O-ring 5,3x2,4 O-Ring 5,3x2,4 Joint torique 5,3x2,4 Junta torica 5,3x2,4 O-ring 5,3x2,4 O-puHr 5,3x2,4 Oring 5,3x2,4

10G 5164.00 3 KN K K= Nl O

1

Rev. 7 November 2023



Instructions for assembly and use *+ Montage- und Gebrauchsanweisung * Notice technique montage et utilisation * HcTpykums no moHTaxy 1 obenyxmeanmio « Instruccion de Montaje y Servicio « Manuale di Montaggio e Uso ¢ Instrukcja Montazu i Obstugi

GRAI I

Art of Bath

UNIVERSAL CONCEALED BOX I
UNIVERSAL-EINBAUKORPER ¢ BOITE UNIVERSELLE

. PARTE INTERNA UNIVERSAL « CORPO DA INCASSO UNIVERSALE
YHUBEPCAINbHbIN BCTPAUBAEMbIU ANIEMEHT ¢ UNIWERSALNY BOX PODTYNKOWY

Przed rozpoczeciem montazu przeczytaj instrukcje.

Przeczytaj wszystkie uwagi, informacje o obstudze i konserwacji baterii.

Przed zainstalowaniem baterii wskazane jest przeptukanie instalacji w celu usunigcia zanieczyszczen.
Nazasilaniu ciepta i zimng woda zalecamy montaz kurkéw kulowych z filtrem.

w  BEFORE INSTALLATION: s TECHNICAL INFORMATION
Read the instruction before assembling. Water pressure in the installation: 0,5 - 5 bar
Read all the notes and information on the use and maintenance of the unit. Water temperature in the installation: 5°C - 80°C
Before installing the unititis advisable torinse it out to remove any impurities or dirt. Temperature range of thermostat operation: 15°C - 45°C
For the hot and cold water supply we recommend you install stops with filters.
w VORDERMONTAGE: A s TECHNISCHE INFORMATIONEN A
Bevor Sie mit der Montage beginnen, lesen Sie bitte die Anleitung. Wasserdruck in der Anlage: 0,5 - 5 bar
Lesen Sie bitte vor der Montage alle Bemerkungen und Informationen durch. Wassertemperatur in der Anlage: 5°C - 80°C
Bevor Sie die Batterie montieren, ist angebracht die Anlage zu spiilen, um die Verunreinigungen zu beseitigen. Arbeitstemperaturbereich des Thermostaten: 15°C - 45°C
Wir empfehlen auf dem Warm- und Kaltwasserzulauf Kugelhdhne mit Filtern zu montieren.
m AVANTDE PROCEDERA L'INSTALLATION: ‘ - INFORMATIONS TECHNIQUES ‘
Avantinstallation, veuillez lire la notice. Pression d'eau dans le systéme: 0,5 - 5 bar
Prenez connaissance de toutes les informations et remarques liées a l'usage et a l'entretien de la batterie Température d'eau dans le systéme: 5°C - 80°C
de douche. Plage des températures de travail du thermostat: 15°C - 45°C
Avant d'installer la batterie, il est recommandeé d'effectuer un ringage de linstallation, de maniére a éliminer
les impuretés éventuelles.
Nous vous recommandons d'installer des robinets & tournant sphérique au niveau de l'alimentation en eau
chaude et en eau froide.
m  ANTES DE INSTALAR: ‘ m  INFORMACION TECNICA ‘
Antes de empezar el montaje lea las instrucciones. Presion de agua en la instalacion: 0,5 - 5 bar
Lea todas las indicaciones sobre el servicio y la conservacion de la bateria. Temperatura de agua en la instalacion: 5°C - 80°C
Antes de instalar la bateria, se recomienda limpiar bien la instalacion para eliminar todos los residuos. Alcancede temperaturas de trabajo del termostato: 15°C - 45°C
En la alimentacion de agua caliente y fria recomendamos el montaje de grifos angulares de boals con el filtro.
s PRIMADEL MONTAGGIO: A w  INFORMAZIONI TECNICHE A
Prima del montaggio leggiil manuale. Pressione dell'acqua nellimpianto: 0,5 - 5 bar
Leggitutte le avvertenze, le informazioni sul funzionamento e sulla manutenzione della batteria. Temperatura dell'acqua nell'impianto: 5°C - 80°C
Prima di montare la batteria € opportuno sciacquare I'impianto allo scopo di eliminare le impurita. Ambito delle temperature di funzionamento del termostato: 15°C - 45°C
Sull'alimentazione con acqua calda e fredda consigliamo di montare rubinetti a sfera conil filtro.
w  [EPEQYCTAHOBKOM: m m  TEXHUYECKASI UHOOPMALINSA m
lepen Ha4anoM MOHTaXa POYUTANTE UHCTPYKLMIO. [aeneHnue ol B cucteme: 0,5 - 5 bar
O3HakoMbTECh CO BCEMM 3aMeyaHnsMm, uHopmaLiyeit 06 0BCTyxvBaHINM 1 KOHCEPBUPOBAHUN CMECUTENS. Temnepatypa Bofbl B yctaHoBke: 5°C - 80°C
Mepen ycTaHOBKOWM CMECUTENS PEKOMEHAYETCS MPOMbITb YCTAHOBKY C LIEMbI0 OYUCTK OT 3arpsisHeHUIA. TemnepaTypHbiii AnanasoH pabotel Tepmoctarta: 15°C - 45°C
Mpy nopave ropsiyelt 1 XonoAHO! BOAbI PEKO-MeHAyeM MOHTaX LApOBbIX KpaHOB C (hnnb-TPOM.
w PRZEDINSTALACJA; 4 || ~ INFORMACJE TECHNICZNE P pL

Cisnienie wody w instalacji: 0,5 - 5 bar
Temperatura wody w instalacji: 5°C - 80°C
Zakres temperatur pracy termostatu: 15°C - 45°C

10G 5164.00 3 KN K K= Nl O

Rev. 7 November 2023



Instructions for assembly and use *+ Montage- und Gebrauchsanweisung * Notice technique montage et utilisation * HcTpykums no moHTaxy 1 obenyxmeanmio « Instruccion de Montaje y Servicio « Manuale di Montaggio e Uso ¢ Instrukcja Montazu i Obstugi

GRAFF A= |

Art of Bath

UNIVERSAL-EINBAUKORPER ¢ BOITE UNIVERSELLE

_ PARTE INTERNA UNIVERSAL « CORPO DA INCASSO UNIVERSALE
YHUBEPCAINbHbIN BCTPAUBAEMbIU ANIEMEHT ¢ UNIWERSALNY BOX PODTYNKOWY

N

w

IS

3]

P ci

ROUGH-IN INSTALLATION - see fig. 2.1 - 5.3.

. Prepare the recess in the wall for the valve body pipe work taking into account the maximum and

minimum depth allowed.

. Arrange the pipe work so that the hot water feed is on the left (HOT) and the cold is on the right

(COLD) in relation to the valve body - see fig. 2.2.

. Place valve body (2) with the plaster guard (3) into the wall recess. The finished wall surface must be

within side wall of plaster guard. The minimum and maximum distance is indicated on the plaster
guard face. Recommended depth for valve body in wall measured from center of shower outlet to
finished wall surface is in the range 85mm — 110mm. Use the plaster guard (3) to determine the depth
of the valve in the wall, and to trace the cutout line in the wall material.

. Use thread sealant, and connect the hot and cold water supply lines to the valve inlet ports. The inlet

ports are marked “HOT” and “COLD", and must be connected to the correct water supply lines to
ensure proper valve function.

. Connect the water outlet lines to the valve ports.

NOTE: When all pipes have been connected, make sure that there are no leaks before closing wall
and installing trim.

-1

UNTERPUTZINSTALLATION DES VENTILS - siehe Zeich. 2.1 - 5.3.

1.

N

w

o

Wandnische fiir den Ventilkorper vorbereiten, indem die maximale und minimale Einbautiefe
beriicksichtigt wird.

. Die Installation so durchfiihren, damit das Warmspeisewasser (HOT) auf der linken Seite des Kérpers

und das Kaltspeisewasser (COLD) auf der rechten Seite des Korpers ist - siehe Zeich. 2.2.

. Den Ventilkdrper (2) mit der Montageschutzabdeckung in der Wandnische (3) anbringen. Die Flache

der Anschlusswand soll in dem durch die Wand des Flansches der Montageschutzabdeckung
bestimmten Bereich passend sein. Die empfohlene Tiefe des Ventilkérpers an der Wand von der
Achse des Brausestutzens zur Flache der Anschlusswand soll zwischen 85mm — 110mm sein. Die
Montageschutzabdeckung (3) dient zur Bestimmung der richtigen Einbautiefe des Ventils an der
Wand und zur Bestimmung der Form des Ausschnittes an der Wand.

. Die Gewindedichtung anwenden und die Warm- und Kaltspeisewasserinstallation an die

Auslaufstutzen des Ventils anschlieRen. Die Stutzen sind mit “HOT” — Warmwasser und “COLD” —
Kaltwasser markiert und missen so angeschlossen werden, um die richtige Funktion des Ventils
sicherzustellen.

. Das Rohr mit der Abnehmerinstallation (Dusche, Auslauf) an die Auslaufstutzen des Ventils

anschlieRen.

ACHTUNG: Nach dem Anschluss aller Rohre die Verbindungen vor dem VerschlieRen der Wand
und der Montage der Dekorabdeckungen auf ihre Dichtheit prifen.

N

w

IS

o

P F

INSTALATION DE LA VANNE ENCASTREE - voir schéma 2.1-5.3.

. Préparez une niche aménagée dans le mur pour le corps de vanne, en tenant compte de la profondeur

maximale et minimale d’encastrement.

. Effectuez I'installation de telle maniére que I'alimentation en eau chaude (HOT) soit située a gauche

du corps et I'alimentation en eau froide (COLD) soit située & droite du corps - voir schéma 2.2.

. Placez le corps de vanne (2) avec le cache de fixation (3) dans la niche aménagée dans le mur. La

surface de la paroi de finition doit se trouver dans la plage indiquée par les bords de la bride du cache
de fixation. La profondeur recommandée d'encastrement du corps de vanne dans le mur est mesurée
entre 'axe du manchon de la douche et la surface de la paroi de finition. Celle-ci doit étre comprise
entre 85 mm et 110 mm. Utilisez le cache de fixation (3) pour indiquer la profondeur exacte
d’encastrement de la vanne dans le mur et pour indiquer la forme de pergage dans le mur.

. Utilisez le joint pour filetage et raccordez I'alimentation en eau chaude et en eau froide sur les

embouts d'arrivée de la vanne. Les embouts sont repérés « HOT » — eau chaude, « COLD » — eau
froide et doivent étre raccordés de fagon & assurer le fonctionnement correct de la vanne.

. Raccordez les tuyaux d'installation des jets (la douche, le robinet) aux embouts de sortie de la vanne.

ATTENTION: Apres avoir raccordé tous les tuyaux, il convient de vérifier I'étanchéité des raccords
avant de procéder au montage des parois et des caches décoratifs.

-3

INSTRUCCIONES DE DEBASTADO - ver dis. 2.1-5.3.

1

2.

w

3]

. Prepare la hendidura en la pared para el trabajo de la tuberia del cuerpo del mezclador considerando

la profundidad méxima y minima permitida.
Ubique la tuberia de tal modo que el suministro del agua caliente esté a la izquierda (CALIENTE) y
del agua fria este a la derecha (FRIA) de acuerdo al cuerpo de la vélvula - ver dis. 2.2.

. Ponga el cuerpo de la vélvula (2) con el protector del yaso (3) en la hendidura de la pared. La

superficie acabada de la pared debe estar dentro de la pared lateral del protector del yaso. La
distancia minima y méxima se indica en la cara del protector del yaso. La profundidad recomendada
para el cuerpo de valvula en la pared medida del centro del enchufe de la ducha a la superficie
acabada de la pared esta en el intervalo de 85mm — 54mm.

. Utilice sellador para rosca y conecte las lineas de suministro de agua a los puertos de entrada de la

valvula. Los puertos de estrada estan marcados “HOT” y “COLD", y deben estar conectados a las
lineas de suministro correctas, para asegurar el funcionamiento correcto de la valvula.

. Conecte las lineas de salida a los puertos de la valvula.

NOTA: Cuando todas las tuberias han sido conectadas, cerciérese de que no haya escapes antes
de sellar la pared y de instalar el ajuste.

N

w

S

o

4

ISTALLAZIONE SOTTO L’INTONACO DELLA VALVOLA - vedi fig. 2.1-5.3.

. Prepara un vano nel muro per il corpo della valvola, prendendo in considerazione la massima e la

minima profondita dell'incassatura.

. Realizza ['istallazione in tal modo, da disporre I'alimentazione con 'acqua calda (HOT) dalla parte

sinistra del corpo, e 'alimentazione con I'acqua fredda (COLD) dalla parte destra del corpo - vedi fig.
2.2.

. Metti il corpo della valvola (2) con la protezione di montaggio (3) nellincavo del muro. La superficie

del piano di finitura dovrebbe rientrare nel’ambito determinato dai lati della flangia della protezione di
montaggio. La profondita consigliata dell'incasso per il corpo della valvola misurato dall'asse del tubo
di giunzione della doccia fino alla superficie del piano di finitura dovrebbe rientrare nellambito di
85mm - 110mm. La protezione di montaggio (3) serve a delineare la corretta profondita dell'incasso
della valvola e per definire la forma dell'incasso nel muro.

. Applica la guarnizione del filetto e collega I'mpianto di alimentazione con 'acqua calda e fredda ai tubi

in ingresso della valvola. | tubi sono marcati con “HOT” — acqua calda, “COLD” - I'acqua fredda e
devono essere collegati in tal modo da assicurare il corretto funzionamento della valvola.

. Collega i tubi all'impianto di ricezione (doccia, bocca) ai tubi di uscita della valvola.

ATTENZIONE: Dopo aver collegato tutti i tubi bisogna verificare la tenuta dei collegamenti prima
della copertura del muro e dell'installazione delle protezioni decorative.

P Rus

INSTRUCCIONES DE DEBASTADO - cm. puc. 2.1-5.3.

1

2.

w

o

. MpuroToBbTE CTEHHYH HULWY ANS WHCTaNIsUMM Kopmyca knanaHa obpawjas BHUMaHWe Ha

paspetuaemyto rnyGuHy nocagku (Makcumym — MUHUMYM).
MopseauTe TpybGonpoBoa Takim obpasom, YTobbl cHabxeHune Tennoi Bogoit (HOT) Haxoaunock ¢
neBoii CTOPOHBI kopryca a xonoaHoit (COLD) — ¢ npaBoii CTOPOHbI kopryca - CM. puc. 2.2.

. MomecTute Kopnyc knanaHa (2) BMECTe C MOHTaXHOI MOKPbILLKOIA (3) B CTEHHOI HuLwe. MnockocTb

OTAEMOYHOM CTEHKN AOMKHA HalTUCh B AMana3oHe paccTOsIHMS OrpaHNYEHHOM CTeHKaMm dnaHLbl
MOHTaXHOM nokpbilkn. CoBeTyemas rnybuHa nocapki knanaHa B CTeHe M3MepsieMas OT OcH
QyLWEBOro LUTyLepa A0 YPOBHS CTEHbl AOMKHa Haxoautest B mpegenax 85 mm — 110 mm. Ponb
MOHTa)XHOM MOKPbILKK (3) — onpefenuTb NpaBUmbHYIO rNy6UHY NOCaAKM knanaHa B CTeHe W Ans
onpezenenmst hopMbl OTBEPCTUS B CTEHE.

. YnotpebuTte ynnoTHeHe pe3bbl 1 NPUCOEANHUTE CHABXEHME TENNON 1 XONOAHOM BOAOI K BXOAHbIM

wrylepam knanaua. LLtyuepa o6osHave- Hbl “HOT” — Tennas Boga u “COLD” — Bopa xonogHas. U
TaK [JOMKHbI BbITb NPUCOEAMHEHDI Anst 0GecneyeHust npasumbHol paboTs! kanata.

. NMpucoeuHuTe TpyGbl NPUEMHIKOB (AYLL, U3MMB) K BbIXOASLLMM LUTYLEpaM KnanaHa.

BHUMAHMUE: [ocne npucoeauHenust Bcex Tpy6 crepyeT MpoBEpUTb MNOTHOCTb BCEX
COEAVHEHMIN 10 3aCTPOIIKI OTAENOYHON CTEHKM 11 MOHTaXa [JEKOPaTUBHbIX ANIEMEHTOB.

W N =

~

o

INSTALACJA PODTYNKOWA ZAWORU - zobacz rys. 2.1-5.3.

P P |

. Przygotuj wneke w $cianie pod korpus zaworu biorac pod uwage maksymalng i minimalng gteboko$¢ osadzenia.
. Podprowadz instalacje w taki sposob, by zasilanie woda ciepta (HOT) znajdowato sig z lewej strony korpusu, a zasilanie woda zimng (COLD) znajdowato si¢ z prawej strony korpusu - zobacz rys. 2.2.
. Umiesc¢ korpus zaworu (2) z ostong montazowa, (3) we wnece $ciany. Plaszczyzna cianki wykoriczeniowej powinna si¢ miesci¢ w zakresie wyznaczonym przez cianki kotierza ostony montazowej. Zalecana

gleboko$¢ osadzenia korpusu zaworu w $cianie mierzona od osi krééca natryskowego do powierzchni $cianki wykoriczeniowej powinna sie miesci¢ w zakresie 85mm — 110mm. Ostona montazowa (3) stuzy do
wyznaczenia whasciwej glebokosci osadzenia zaworu w $cianie oraz do okreslenia ksztattu wyciecia w $cianie.

aby zapewni¢ wiasciwe funkcjonowanie zaworu.

. Podtacz rury z instalacja odbiorczg (natrysk, wylewka) do kréécow wylotowych zaworu.

. Zastosuj uszczelnienie gwintu i podiacz instalacje zasilajaca wody cieptej i zimnej do kré¢cow wiotowych zaworu. Krééce sa 0znaczone “HOT” — woda ciepta, “COLD” — woda zimna i musza by¢ tak podtaczone,

UWAGA: Po podtaczeniu wszystkich rur nalezy sprawdzi¢ szczelno$¢ potaczen przed zabudowaniem $ciany i montazem oston ozdobnych.

10G 5164.00 3 KN K K= Nl O

Rev. 7 November 2023




Instructions for assembly and use *+ Montage- und Gebrauchsanweisung * Notice technique montage et utilisation * HcTpykums no moHTaxy 1 obenyxmeanmio « Instruccion de Montaje y Servicio « Manuale di Montaggio e Uso ¢ Instrukcja Montazu i Obstugi

GRAFF A X

UNIVERSAL-EINBAUKORPER * BOITE UNIVERSELLE
Art of Bath _ PARTE INTERNA UNIVERSAL + CORPO DA INCASSO UNIVERSALE
YHUBEPCANbHbIA BCTPAUBAEMbINA SNIEMEHT » UNIWERSALNY BOX PODTYNKOWY

5 5 ATE « CONNECTING TO THE SUPPLY SYSTEM+ ANSCHLUSS AN DIE ANLAGE
S A Bl A IO T 3 RACCORDEMENT A L'INSTALLATION « CONEXION A LA INSTALACION + COLLEGAMENTO
VISTA LATERALE + BOKOBOM BU[] « WIDOK Z BOKU ALL'IMPIANTO « [TOGKITFOYEHME K CUCTEME » PODEACZENIE DO INSTALACJI
Finished wall
Ausbauwand

Panneau de finition
Pared de acabado
Parete di finitura

. OTtfenoyHast cTeHka
Scianka wykorczeniowa

Finishing partition max.
Abschlusswand max.
Maximum de la paroi de finition
El méximo de la pared de acabado
Massimo a parete di finitura
Makcumym OTAENOUHOI CTEHKM
Maksimum $cianki montazowej

N " ) Hot water inlet Cold water inlet
Finishing partition min. Warmwasserversorgung Kaltwasserversorgung
Abschlusswand min. Alimentation d'eau chaude Alimentation d'eau froide
‘ A Minimum de la paroi de finition Entrada de agua caliente Entrada de agua fria
. El minimo de la pared de acabado Alimentazione con acqua calda Alimentazione con acqua fredda
min. 85mm Minimo parete di finitura CHabxeHue Tennoit Boaoit CHabxeHune xonofHoi Boaoi
MuHUMYM OTLENOYHON CTEHKM Zasilanie cieptg wodg, Zasilanie zimng woda,

max. 110mm Minimum $cianki montazowej

Cut-off valve » Absperrventil  Robinet d’arrét » Valvula de cierre * Rubinetto d’arresto ¢ 3ambikarowjuii knanaH * Zawor odcinajacy

Outlet without water Outlet without water
Ausgang ohne wasser Ausgang ohne wasser
Sortie sans eau Sortie sans eau
Salida sin agua Salida sin agua
Uscita senza acqua Uscita senza acqua
3K3uTyC 6e3 BoAbl 3K3uTyC 6e3 Bopbl
Wyjécie bez wody Wyjscie bez wody

Water receiver (for example: shower head)
Wasser-Empfanger (beispielsweise: Regenbrause)
Récepteur d'eau (par exemple: pomme de douche)

Receptor de agua (por ejemplo: alcachofa de ducha)
Ricevitore acqua (per esempio: soffione)
npUeMHUK BoAbl (Hanpumep: pa3bpblruBaTenb)
Odbiornik wody (na przyktad: glowica prysznicowa)
(emoojuzsAud eaimolb :pepAzid eu) Apom yiuioigpO
(quaLeamnieiadgeed :dewndueH) 19Tos sHwamndu
(auotyos :oidwass Jad) enboe aio)raory
(eyonp ap eyoyoeoye :o/dwsafs Jod) enbe ap Jojdadsy
(ayonop ap swwod :a|dwaxa Jed) nea,p Inajdacsy
(asneiquabay :asiamsjaidsiaq) Jobuejdwz-1assep
(peay Jamoys :a|dwexa Jo}) JaAIa081 Jajep

Shower mixer with 2 outlets « Duschmischer mit 2 Ausgénge * Mitigeur douche avec 2 sorties * Mezclador de ducha con 2 salidas °
Miscelatore doccia con 2 uscite * BHympeHHuli nepekntoyamers ¢ 08yms ebixodamu * Zawor dwuwyjsciowy

Outlet without water
Ausgang ohne wasser
Sortie sans eau
Salida sin agua
Uscita senza acqua
aKauTyc 6e3 Boabl
Wyjécie bez wody

(emoouzsAid exymeyonss :pepiAzid eu) Apom YiuIoigpO
(exoAdL segemAL :denndueH) 9o smHWamndu
(ene200p :01dwasa Jad) enboe ai0}AB0lY
(ouew ap eyonp :ojdwsals Jod) enbe ap Jojdadey
(anayonop :ajdwaxa Jed) nes,p na)daogy
(esneigpuey :esiomsjaidsiaq) Jebueydw3-1osse
(1emoys puey :jduwiexs Joj) JoAieoal Jajep
Water receiver (for example: shower head)
Wasser-Empfanger (beispielsweise: Regenbrause)
Récepteur d'eau (par exemple: pomme de douche)
Receptor de agua (por ejemplo: alcachofa de ducha)
Ricevitore acqua (per esempio: soffione)
NpUEMHUK BOAbI (HanpuMep: pasbpblruBaTenb)
Odbiornik wody (na przyktad: glowica prysznicowa)

10G 5164.00 =3 IGH I = i ©E 4 Rev. 7 November 2023




Instructions for assembly and use *+ Montage- und Gebrauchsanweisung * Notice technique montage et utilisation * HcTpykums no moHTaxy 1 obenyxmeanmio « Instruccion de Montaje y Servicio « Manuale di Montaggio e Uso ¢ Instrukcja Montazu i Obstugi

GRAI I

Art of Bath

UNIVERSAL CONCEALED BOX I

UNIVERSAL-EINBAUKORPER ¢ BOITE UNIVERSELLE

PARTE INTERNA UNIVERSAL « CORPO DA INCASSO UNIVERSALE

YHUBEPCATNbHbIA BCTPAUBAEMbIA ANEMEHT « UNIWERSALNY BOX PODTYNKOWY

A

Water receiver (for example: shower head)
Wasser-Empfénger (beispielsweise: Regenbrause)
Récepteur d'eau (par exemple: pomme de douche)

Receptor de agua (por ejemplo: alcachofa de ducha)
Ricevitore acqua (per esempio: soffione)
NpUeMHVK BOAbI (Hanpumep: pasbpblaruBaTens)
Odbiomnik wody (na przyktad: gtowica prysznicowa)

OFF

3| :OHALIBLEEBQQ) 1908 €89 IALNENE
1BSB08U BJUBLUEIN|0SqY) BNnbe uis epiles

Water receiver (for example: hand shower)
Wasser-Empfanger (beispielsweise: Handbrause)
Récepteur d'eau (par exemple: douchette)
Receptor de agua (por ejemplo: ducha de mano)
Ricevitore acqua (per esempio: doccetta)
NpYeMHUK BOAbl (Hanpumep: JylueBas Tpybka)
Odbiornik wody (na przyktad: stuchawka prysznicowa)

>
=4
w
Q
S
23
EXe)
=
mj
L@
>=
2]
@»
S
]
>
ZS
Lo
S @
[=§=3
=
<3m.o
L=
Zo
=
@
2=
c g
@8
=
g5
<
o<
= @
o S
S =
~ X
@
<«
@

o
=4
@
=
=
<]
=%
=
(R
Q
>
o
w
=X
=N
3
<
@
Qo
f=
S
@D
=3
3
=
@
)
f=)
<«

“qUNLHOE UMNOBRNHO

(

(‘niomez yaioy) :Auebewhm aiupd|bmzag) Apom zaq a10sIAN
("ojeus Ip odde] :0}seIyoU B)UBWEIN|OSSY) BNboe BZUSS B)IOSN

-
)

8=

<8
=]

=%
@

o
<

£
=

=4
o

@
'S

Thermostatic with 2 outlets « Thermostatmischer mit 2 Ausgéange * Mitigeur thermostatique avec 2 sorties * Mezclador termostatico con 2 salidas °
Miscelatore termostatico con 2 uscite * YHueepcanbHbIl ecmpausaembill 3nemeHm ¢ Zawor termostatyczny z dwoma wyjsciami

B

Water receiver (for example: hand shower)
Wasser-Empfénger (beispielsweise: Handbrause)
Récepteur d'eau (par exemple: douchette)
Receptor de agua (por ejemplo: ducha de mano)
Ricevitore acqua (per esempio: doccetta)
NPUEMHUK BOAbI (HaNpUMep: ayLueBas Tpybka)
Odbiornik wody (na przyktad: stuchawka prysznicowa)

(suoiyos :o1dwasa Jad) enboe a10}iA8a1Y
(eyonp ap ejoyoesye :ojdwslfe Jod) enbe ap J0jdeday
(peay Jemoys :ajduiexs Joj) JaAigoal Jajep
Sortie sans eau (Absolument requis: Bouchon.)

(auareanieiadgeed :demmduen) o xmHWaundu
Salida sin agua (Absolutamente necesario: Tapon de la valvula.)

(emoaiuzsAid eaimoyB :pepizid eu) Apom Yiuloigpo
(ayonop ap swwod :ajdwaxa Jed) nes,p ins)dedgy
(esnelquabey :asiems|aidsiaq) Jobuejdw3-1assep)
Outlet without water (Absolutely required: The Plug.)
Ausgang ohne wasser (Unbedingt erforderlich: Ventilkegel.)
Uscita senza acqua (Assolutamente richiesto: Tappo di sfiato.)
akauTyc 6e3 Bogbl (OBsi3aTenbHo: KoHMYeCkui BEHTUNb.)
Wyjécie bez wody (Bezwglednie wymagany: Korek zaworu.)

G
3

Thermostatic with 2 outlets * Thermostatmischer mit 2 Ausgénge *

Mitigeur thermostatique avec 2 sorties * Mezclador termostatico con 2 salidas ¢
Miscelatore termostatico con 2 uscite * ¥ HbIl ecmp 1
Zawor termostatyczny z dwoma wyjsciami

im ©

Outlet without water (Absolutely required: The Plug.)
Ausgang ohne wasser (Unbedingt erforderlich: Ventilkegel.)
Sortie sans eau (Absolument requis: Bouchon.)

Salida sin agua (Absolutamente necesario: Tapon de la valvula.)
Uscita senza acqua (Assolutamente richiesto: Tappo di sfiato.)
akauTyc 6e3 Bogbl (OBsizaTenbHo: KoHM4eckui BEHTUNMb.)

Wyjécie bez wody (Bezwglednie wymagany: Korek zaworu.)

OFF

t

(emoojuzsAud exmeyonys :pepiAzid eu) Apom yiuloigpo
(exoAdL segemAL :denndueH) 9o ymHwamndu
(eye000p :01dwass Jad) enboe 810)AB0IY
(ouew ap eyonp :ojdwafe Jod) enbe ap Jojdasay
(anayonop :a|dwaxa Jed) nea,p Inajdaosy
(esneigpuey :asjems|aldsiaq) Jobuejdw3-1ossep
(1amoys puey :a|dwexa Jo}) JoAI88I JaJepL
Water receiver (for example: shower head)
Wasser-Empfanger (beispielsweise: Regenbrause)
Récepteur d'eau (par exemple: pomme de douche)
Receptor de agua (por ejemplo: alcachofa de ducha)
Ricevitore acqua (per esempio: soffione)
NPUEMHMK BOAbI (HanpuMep: pa3bpblaruBaTenb)
Qdbiornik wody (na przyktad: glowica prysznicowa)

G
o

Thermostatic/Shower mixer with 3 outlets * Thermostat- und Duschmischer mit 3 Ausgénge *
Mitigeur douche/thermostatique avec 3 sorties * Mezclador ducha/termostatico con 3 salidas *
Miscelatore doccia/termostatico con 3 uscite * Y P HbIl 6cmp 1l aeMeHm ©
Zawor termostatyczny z trzema wyjsciami

Water receiver (for example: shower head)
Wasser-Empféanger (beispielsweise: Regenbrause)
Récepteur d'eau (par exemple: pomme de douche)

Receptor de agua (por ejemplo: alcachofa de ducha)
Ricevitore acqua (per esempio: soffione)
NPUEMHMK BOAbI (Hanpumep: pa3bpblariBaTenb)
Odbiornik wody (na przyktad: gtowica prysznicowa)

p Inaydadgy

t

(eneooop :0idwiess Jad) enboe aioyAsory
(ouew ap eyonp :ojdwafe Jod) enbe ap Jojdeoay
(1omoys puey :a|dwexa 1o}) JoAIa8I JJp

L ]
Water receiver (for example: body spray)

Wasser-Empfénger (beispielsweise: Seitenbrause)

(eWayonop :a|dwaxa Jed) nes,
(esneigpueH :aslemsaidsiaq) Jobueydwz-1assep

(emoojuzsAud exmeyonys :pepAzid eu) Apom yiuloigpo
(ex9AdL segemAL :dewnduen) 19os yHWandu
Récepteur d'eau (par exemple: douchette latérale)
Receptor de agua (por ejemplo: alcachofa de ducha lateral)
Ricevitore acqua (per esempio: doccetta laterale)
NPUEMHMK BOAbI (Hanpumep: 6oKoBbIs hopeyHka)
Odbiornik wody (na przyktad: dysza boczna)

&9
o

10G 5164.00 3 KN K K= Nl O

Rev. 7 November 2023



Instructions for assembly and use *+ Montage- und Gebrauchsanweisung * Notice technique montage et utilisation * HcTpykums no moHTaxy 1 obenyxmeanmio « Instruccion de Montaje y Servicio « Manuale di Montaggio e Uso ¢ Instrukcja Montazu i Obstugi

GRAI I

Art of Bath

UNIVERSAL CONCEALED BOX I

UNIVERSAL-EINBAUKORPER ¢ BOITE UNIVERSELLE
PARTE INTERNA UNIVERSAL « CORPO DA INCASSO UNIVERSALE

YHUBEPCATbHbIA BCTPAUBAEMbIA ANEMEHT « UNIWERSALNY BOX PODTYNKOWY

Water receiver (for example: hand shower)
Wasser-Empfanger (beispielsweise: Handbrause)
Récepteur d'eau (par exemple: douchette)
Receptor de agua (por ejemplo: ducha de mano)
Ricevitore acqua (per esempio: doccetta)

MPUEMHMK BOAbI (HANpUMep: AyLuesas Tpybka)
Odbiornik wody (na przyktad: stuchawka prysznicowa) —

Hot water inlet
Warmwasserversorgung
Alimentation d'eau chaude
Entrada de agua caliente
Alimentazione con acqua calda
CHabxeHwe Tennoii Boaoit
Zasilanie ciepta wodg,

5186200, 5185200, 5185100,
5185400, 5186100, 5186400:
Outlet without water
Ausgang ohne wasser
Sortie sans eau
Salida sin agua
Uscita senza acqua
aKkauTyc Ge3 Bofbl
Wyjécie bez wody

Water receiver (for example: shower head)
Wasser-Empfanger (beispielsweise: Regenbrause)
Récepteur d'eau (par exemple: pomme de douche)
Receptor de agua (por ejemplo: alcachofa de ducha)
Ricevitore acqua (per esempio: soffione)
NPUEMHMK BOAbI (HanpuMep: pasbpblrvBaTenb)
Odbiornik wody (na przyktad: glowica prysznicowa)

P
Il =
S

10mm

‘ Cold water inlet

Kaltwasserversorgung
Alimentation d’eau froide
Entrada de agua fria
Alimentazione con acqua fredda
CHabeHue xonogHoi Bogoi

Zasilanie zimng woda, n

PAY ATTENTION « HINWEIS * FAIRE ATTENTION « TENGA EN CUENTA « PRESTA ATTENZIONE  OBPATUTE BHUMAHUE + ZWROC UWAGE

>
0

52

10G 5164.00 3 KN K K= Nl O

6 Rev. 7 November 2023



Instructions for assembly and use *+ Montage- und Gebrauchsanweisung * Notice technique montage et utilisation « HcTpykums no moHTaxy 1 obenyxmsanmio « Instruccion de Montaje y Servicio « Manuale di Montaggio e Uso « Instrukcja Montazu i Obstugi

GRAFF < |

UNIVERSAL-EINBAUKORPER * BOITE UNIVERSELLE
Art of Bath _ PARTE INTERNA UNIVERSAL + CORPO DA INCASSO UNIVERSALE
YHUBEPCANbHbIA BCTPAUBAEMbIA SNIEMEHT » UNIWERSALNY BOX PODTYNKOWY

b

To ensure that a wall-mounted installation is totally water tight, press the supporting gasket into PCI
Lastogum or other sealing comound which is similar according to the manufacturer's details, spread
before on the wall.

:

Um bei der Vorwandinstallation absolute Dichtheit zu garantieren, wird der Dichtflansch in den auf die
Wand vorher aufgetragenen PClLastogum oder einen nach Herstellerangaben vergleichbaren
Dichtstoffeinged riickt.

b

Pour assurer une étanchéité hydraulique de l'installation montée contre le mur, insérer le joint de
support & la masse PCI Lastogum ou une autre masse d’étanchéité présentant des caractéristiques
comparables selon les renseigmenents du fabricant, en I'appliquant au préalable contre le mur.

b

Con el objetivo de garantizar la estanqueidad completa de la instalacion hidraulica montada en la
pared, presionar a fuerza la junta de soporte contra la masa PCI Lastogum u otra masa de
estanqueidad de funcionamiento semejante segun los datos del fabricante, distribuyéndola

:

Per garantire la perfetta tenuta idraulica dell'installazione a parete, inserire la guarnizione di appoggio
nella membrana PCI Lastogum o in un’altra membrana impermeabile dalle simili caratteristiche
secondo i dati forniti dal produttore, applicata precedentemente sulla parete.

;

Yrobbl 0becrneynTs NOMHyI0 rMaporepMeTUYHOCTb YCTaHaBNUBAEMON HA CTEHE CUCTEMbI, CriedyeT
norpyauTb onopHyto npokraaky B PCI Lastogum nubo uHyto repMeTisipytoLLyto Maccy noaobHoro
AeiCTBIMS COrnacHo MHchopMaLK NPON3BOAUTENS, NPeaBapUTENbHO YKNaabiBas eé Ha CTeHe.

b

To ensure leak tightness also against sparkling water, please seal the gap between UNI-Box and the
tiles with silicone.

>

Aby zapewni¢ absolutng szczelno$¢ instalacji przysciennej, dociskamy zawarty w zestawie kotnierz
uszczelniajacy do natozonego na $ciane tworzywa PCl Lastogum lub innego poréwnywalnego
tworzywa uszczelniajgcego.

:

Damit die Dichtigkeit auch Spritzwasser gegenliber gewahrleistet ist, muss die Nahtstelle zwischen
UNI-Box und Fliesen mit Silikon ausgespritzt werden.

b

Pour assurer encore une étanchéité par rapport a I'eau aérée, étancher le joint entre UNI-Box et les
carreaux avec un silicone.

b

Con el objetivo de garantizar también la estanqueidad frente al agua con gas/aire, por favor hagan
estanque también la grieta entre el UNI-Box y las losas usando la silicona para ello.

b

Al fine di garantire anche la tenuta all'acqua gassata / aerata sigillare la fessura tra il UNI-Box e le
piastrelle con il silicone.

:

Yrobbl 0becneunTb Takke repMETUYHOCTb MO OTHOLLEHMIO K ra3o- /BOSI:lyXOHaCbILLteHHOVI BoJe,
creayeT YNNOTHUTb C UCNOMb30BaHWeM cunukoHa wenb mexay UNI-Box v nnutkamu.

b

W celu zapewnienia szczelnosci luke pomiedzy G-box a ptytkami wypetnic silikonem.

10G 5164.00 =3 IGH I = i ©E 7 Rev. 7 November 2023




Instructions for assembly and use *+ Montage- und Gebrauchsanweisung * Notice technique montage et utilisation * HcTpykums no moHTaxy 1 obenyxmsanmio « Instruccion de Montaje y Servicio « Manuale di Montaggio e Uso ¢ Instrukcja Montazu i Obstugi

GRAIIF

Art of Bath

UNIVERSAL CONCEALED BOX I

UNIVERSAL-EINBAUKORPER ¢ BOITE UNIVERSELLE

_ PARTE INTERNA UNIVERSAL « CORPO DA INCASSO UNIVERSALE
YHUBEPCAINbHbIN BCTPAUBAEMbIU ANIEMEHT ¢ UNIWERSALNY BOX PODTYNKOWY

Flow rate information ¢ Durchflussinformation ¢ Information sur le debit « Informacion de intensidad de flujo « Informazione sui valori del flusso * Pacxog Bogp! * Informacja o wielko$ci przeptywu

1 2 3 4 5 bar
. 17,4 24,6 29,7 34,0 374 lImin

Concealed thermostatic and ;

o0 II

diverter with 3 outlets 149 211 259 29,9 33,2 min
& 15,0 21,0 259 29,8 33,1 I/min
A . 18,8 26,8 333 38,4 42,6 I/min
oo 16,6 23,7 29,1 33,8 37,8 I/min
Concealed thermostatic and . 16,5 23,5 29,0 33,6 37,5 I/min
diverter with 2 outlets . 18,8 268 333 38,4 126 Uimin
c . 16,6 23,7 29,1 338 37,8 l/min
oo 16,5 235 29,0 33,6 37,5 l/min

Concealed thermostatic and .
cut-off valve ON 17.8 253 30,9 35,5 39,0 Iimin
3 11,5 15,8 19,6 22,5 248 I/min

Concealed shower mixer and .
diverter with 3 outlets oo 10,4 14,4 17,8 20,5 22,8 lImin
o 10,3 14,4 17,7 20,4 22,8 l/min
Concealed shower mixer and . " 15,6 19,3 22,2 249 I/min
diverter with 2 outlets .o 11,2 158 19,6 22,6 25,5 I/min

IS

MAINTENANCE

AR

Clean water guarantees that a mixer equipped with ceramic flow regulators will work correctly, i.e. the water should not contain any impurities such as sand, boiler scale etc. Because of this, the pipe system
should be equipped with sieve filters or, if there is no such possibility, with individual cut-off valves with filters designed for such units.

IS

WARTUNG

Garant firr das korrekte Funktionieren von Armaturen mit Keramik-Durchflussregler ist sauberes
Wasser, das heilt Wasser ohne Verunreinigungen, wie: Sand, Kesselstein, etc. Deswegen wird
empfohlen, die Wasserversorgung mit Gitterfiltern zu versehen, und sollte dies nicht mdglich sein,
sollten im System Absperrventile montiert werden, die diese Filter enthalten.

3

m  ENTRETIEN

La garantie du fonctionnement correct de la robinetterie équipée en régulateurs de flux céramiques est
I'eau propre, c'est-a-dire une eau qui ne contient pas de polluants tels que : sable, tartre, etc. Pour cette
raison, il est exigé d'équiper les installations d'eau en crépines et, en cas d'absence d'une telle
possibilité, en vannes d'arrétindividuelles avec unfiltre destiné a la robinetterie.

a3

4

>

NEL CASO IN CUI SI VERIFICHINO
PROBLEMI:
e-mail: graff@graff-mixers.com

e-mail: graff@graff-mixers.com

= CONSERVACION w  MANUTENZIONE
Para el buen funcionamiento de las baterias equipadas en reguladores ceramicos del flujo es La garanzia per un funzionamento corretto delle batterie fornite di regolatori ceramici di portata &
necesaria el agua limpia, que quiere decir el agua desprovista de elementos tales como la arena, la I'acqua pulita, ossia priva di elementi come sabbia, incrostazioni ecc. In relazione a quanto suddetto
piedra de caldera etc. Por eso es imprescindible equipar la instalacion de cafierias en filtros de tela si € tenuti a equipaggiare limpianto idrico di filtri a ret, nel caso in cui fosse impossibile, di
metdlica, y en caso de la falta de tales posibilidades, en valvulas particulares cortadoras con el filtro individuali valvole di arresto con un filtro predisposto per la batteria.
adecuadas para la bateria.

P RUS| P pL |

m  KOHCEPBMPOBAHWUE KONSERWACJA
[apaHTvelt npaBunbHOM paboTbl cMecuTenem, OCHALLEHHBIX KepamMUYecKUMK perynsitopamu Gwarancjg prawidiowego dziatania baterii wyposazonych w ceramiczne regulatory przeptywu jest
npoTEKaHWs, SBNSETCA YMCTas BOAQ, T.e. KOTOPasi HE COAEPXMT TaKWUX 3arpsisHEHUi, Kak : Necok, czysta woda, to znaczy nie zawierajaca takich zanieczyszczen, jak: piasek, kamien kottowy itp. W
Hakunb, M T.N. B cBA3M C BblleckasaHHbIM, TpebyeTcs OcHalyeHWe BOAOMPOBOAHOM CUCTEMb zwiazku z powyzszym wymagane jest wyposazenie instalacji wodociggowej w filtry siatkowe, a w
ceTyaTbiMi UNbTpamMK, @ €CNu 3TO HEBO3MOXHO, MHAMBWAYamnbHbIMK 3anOPHbIMKM KnanaHamu przypadku braku takich mozliwosci w indywidualne zawory odcinajace z filtrem przeznaczone do
€ (UMbTPOM, NPeAHa3HaYeHHbIMM A4S CMecuTenen. baterii.

m  GUARANTEE: 3 m  GARANTIE: -3 w  GARANTIE: -2 m  GARANTIA: -
The guarantee conditions are contained in a Die Garantiebedingungen sind auf einem Les conditions de garantie se trouvent dans Las condiciones de la garanten otra hojaia se
separate sheet. separaten Blatt beigefiigt. une feuille séparée. encuentran

w [N THE EVENT OF A PROBLEM: m  SOLLTEN PROBLEME AUFTRETEN w EN CAS DE PROBLEME: w EN CASO DE PROBLEMAS:
e-mail: graff@graff-mixers.com wenden Sie sich an uns: e-mail: graff@graff-mixers.com e-mail: graff@graff-mixers.com

e-mail: graff@graff-mixers.com

w  GARANZIA: - w  TAPAHTUSA: P us| m  GWARANCJA: 41
Le condizioni di garanzia sono indicate sul [apaHTuitHbIe YCNOBMS HA OTAENbHOM MUCTE. Warunki gwarancji sa zawarte na osobnej kartce.
foglio separato. s ECNM BOSHUKHET MPOBIEMA: m  GDY POJAWI SIE PROBLEM:

e-mail: graff@graff-mixers.com

www.graff-designs.com

10G

5164.00 =1 BN KA K= Kl [TE B

Rev. 7 November 2023




